Find the value of v, in the circuit given below.
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The V-l curve of the elment between the terminals a, b is given by

Viva )

32

. '_\ [_I = - f[:lul',b!

O

Vivolt)

16
» [(amp)




$ Vivolt)

16
* [(amp)

I! L Vi Ih |

16

+ [(amp)

0 4

4 Vivolt)

* [(amp)




For the circuit shown below, find the value of the equivalent admittance of the circuit Y __

O Y., =166T<j0.6647
Y., =0.6647 +j1.661

O Y, =0.6647 —j1.661
Y., = 0.6647 — j0.6647

O Y., =1661+j0.6647

j18S < 48




What type of natural response will the circuit have when R =0 ?

R L

An overdamped response

An undamped response

A critically damped response

O O O O

An underdamped response




Evaluate the phasor current 15 .
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One of the following circuits is equivalent to circuit shown below.
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Evaluate the current I in the circuit shown below.
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Find the time-domain node voltage v, (t )




Find an expression for the currenti(t), for t>0 in the circuit below.
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If v(t)=20 cos(1000000 t+70°). What is the maximum value of the voltage v(t) (across the 4Q resistor) in the figure?

142 50 2H

v(r) = 1H =

@ Zoom image

O 16V

20V

8V

g Q@ 0O

4V




If I = 5 Ain the circuit below, then the value of V_is
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Considering the circuit below, evaluate v at t=10"3 s when Vel 0 )=11V

7.5303 V

5.6476V

11V

3.7651V
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For the circuit below, what value of R that will causel=1A?
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R=2/3 0

R=4/3

R=1/3 Q

It can not be determined

2 0O O Q 0O

R=0Q




